To what extent has globalisation been the most important factor in improving the competitiveness of UK manufacturing businesses? Justify your answer with reference to your own research and the item above (40)

Globalisation is the integration of international economies leading to a world market. This leads to greater interdependency amongst countries. Although UK manufacturers can increase sales by targeting a global market they will also face an increase in competition from businesses in other countries. UK manufacturing as a percentage of GDP has declined from 22% to 11% over the past decade. To improve this figure it is important that UK manufacturers improve competitiveness in order to benefit from this larger market. Porter would suggest that this could be achieved through cost minimisation. This can be seen in the operations of UK manufacturers such as Nestle and Coca Cola in the food and drink industry. They operate large scale capital intensive production processes that increase productivity and lead to lower unit costs. In comparison, UK manufacturing has a number of firms such as Jaguar Land Rover and Bentley in the car industry that produce highly differentiated products, targeting niche markets aimed at wealthy consumers. However, it can also be seen that other factors are important in improving competitiveness. Technological change means that all businesses have to ensure that they invest in new equipment in order to improve and create a competitive advantage in markets with a high degree of competitive rivalry.

The introduction briefly defines globalisation and guides the examiner as to the structure of the essay. A reference to the decline in UK manufacturing and the competitive rivalry caused by global markets serves as a reason for the need to be competitive. The candidate explains how they will structure their essay, letting the examiner know that they will compare and contrast. 

The impact of globalisation can be seen to be the most significant factor in improving the competitiveness of businesses that operate in the food industry. Exports have seen healthy growth in the last decade as favourable exchange rates have meant that a weak pound has made UK produced goods cheaper and therefore more attractive to foreigners. As the global economy has become more integrated it has made it easier for UK businesses to export goods to new markets, particularly market development in the emerging economies such as the BRICS countries. This has allowed UK manufacturers to gain economies of scale, with mass manufacturers such as Nestle increasing output by exporting 90% of their Dolce coffee range. Technical economies have increased productivity, creating greater scope for a cost minimisation strategy, allowing UK manufacturers to undercut foreign competition. The short term boost of a weak pound has clearly helped but the attractive business environment in the UK has led to other mass manufacturers reshoring and investing in productive capacity. Alongside Nestle are the likes of Haribo and Coca Cola who have invested in capital intensive plant that negates the higher wages paid to UK labour in low skilled jobs. The minimum wage does not have to be paid to automated machinery; instead capital spending in machinery and plant is the main cost. Membership of the EU has meant easy access to nearby markets and because of the global nature of the confectionery market transportation costs to markets further afield have been cut substantially; even more so because of cheap energy costs at the moment. Significantly, this investment in UK mass manufacturing has increased productivity but would not have come about if global markets had not created the demand for the product in the first place. Therefore, globalisation can be seen to be the catalyst for improving the competitiveness of UK manufacturers that target the mass market.

RAP RAN E1. The candidate is fully focused on answering the question by linking globalisation with competitiveness through the medium of UK mass manufacturing. They have incorporated business theory from the Operations Management section of the specification to underpin their argument. Contextualised analysis is evident throughout the paragraph but the candidate does not labour the application. Instead application is delivered within the lines of analysis rather than as a stand-alone. It is clear that the candidate is well read with a number of references to real world factors that impact on competitiveness. Judgement has been made as to the short term benefits of a weak exchange rate and lower energy costs. Data from the item has been used to substantiate, rather than describe, the argument. It is essential that candidates make use of the item within their response.
In comparison to mass manufacturing globalisation can also be seen to be the most important factor in improving competitiveness in the niche manufacturing car industry. Businesses such as Jaguar Land Rover and Bentley, despite being foreign owned, have kept production in the UK whilst using a strategy of new product development to target new markets such as India, Russia and, in particular, China. Not only have our manufacturers geographically segmented the market they have also targeted specific demographics. By using the ‘Made in Britain’ slogan UK produced iconic cars such as the Jaguar F Type and Bentley’s new SUV bring a reputation to these markets that act as a USP allowing for a premium pricing strategy. The fact that these cars are designed and assembled in the UK adds to the perception that the product is highly differentiated and created and built by core workers. This plays on the idea that the UK car industry produces high quality elite cars; an image that pervades society with marketing strategies that explicitly target a global audience through mass media, for example James Bond driving his Bentley or Lotus sports car. This image of specialist skills is paramount in the success of the cars and is exacerbated by the concentration of Formula 1 teams in the UK, suggesting that prestigious, innovative and highly desirable cars are British. Despite many low value car components being manufactured abroad the final product is made here. Indeed, without the global market it seems apparent that businesses such as JLR would not have survived the recession. The ability to target a global market is based on the traditional perception of our car industry, but without this market the UK car industry would be decimated. It is not only our premium cars that benefit. Businesses such as Mulberry with their high quality British made handbags and Crockett and Jones with their distinctive handmade shoes have seen a revival in fortunes too. The scale of the target market has required massive investment into production processes which has led to increased capacity, innovation, better quality and greater efficiency. A business model that combines final manufacturing with after sales service using a highly skilled workforce has differentiated UK made cars and fashion products in a global market. This clearly shows that without globalisation the UK’s niche manufacturing car and fashion industries would struggle to be competitive.

RAP+ RAN+. The candidate has linked the first two analytical paragraphs by providing a comparison. Both paragraphs explain why globalisation has benefited the competitiveness of UK manufacturing despite the evidently different nature of the industries in which these businesses operate. By illustrating dissimilar business situations i.e. mass v niche manufacturing they have provided validity as to why their arguments regarding UK manufacturing remain the same despite the differing contexts. With a brief reference to the fashion industry the candidate attempts to explain why this might be the case when the nature of the product is highly differentiated.

As a contrast to globalisation I would suggest that embracing technological change is the most important factor in improving the competitiveness of UK manufacturing. This can be seen in the supermarket industry where the degree of competitive rivalry requires a cost minimisation strategy. This means that manufacturers supplying to supermarkets have to ensure low unit costs. With wage costs in Eastern Europe and Asia lower than in the UK our food manufacturing businesses can only compete by becoming capital intensive and investing in automation and robotics to increase the scale of production in order to obtain lower unit costs. UK manufacturers such as Coca Cola, Nestle and Haribo are excellent examples of this process with technical economies of scale ensuring that they can compete against foreign competitors in supplying to the domestic market. This is particularly important when considering the power of the buyers in this market. As large oligopolists the supermarkets are able to maintain a high degree of control over supplier contracts, using the size of the orders to drive down costs through purchasing economies. Efficiency gains through automation help to increase productivity whilst retaining the quality of standardised products which reflects the mass market being targeted. Although the target market is very different it is apparent that record investment in the car industry, over £7bn in the last two years, has enabled UK car manufacturers to produce high quality combined with increased output. Nissan and JLR account for nearly two-thirds of UK production which has been enabled through the use of high-tech research and development underpinned by heavy investment into advanced equipment. By utilising the skills of core workers within this process the car industry has been very successful. Thus we can see how mass and niche manufacturing can both benefit from large scale investment into technology. In both cases technology has been crucial in ensuring the competitiveness of UK manufacturing.

GAP GAN. The candidate now contrasts by looking at technology as the most important factor in improving competitiveness. They make effective use of business theory such as Porter’s Five Forces to help develop their argument and have been selective in their use of application to illustrate their analysis. It is important that empirical evidence is not used descriptively but is linked to the analysis and evaluation throughout. Although this argument contrasts with the previous two it also shows how a candidate can compare within a paragraph, here with mass v niche manufacturers. The candidate also shows how they can use information from other bullet points, here BP1, to effectively answer other areas of the research theme. 

In essence, I believe that globalisation is the most important factor in improving the competitiveness of UK manufacturing businesses. This is apparent in the mass manufacturing sector where businesses in the food industry such as Nestle and Coca Cola have invested heavily in capital equipment in order to develop new markets. Although these manufacturers target the UK market it is clear that it is the global market that allows them to access mass economies of scale which lower their unit costs and allow them to follow a cost minimisation strategy if required. This makes it easier for them to price discriminate in different markets dependent on factors such as competition and income. Where the product is price elastic, as it often is in the UK market, they are able to charge lower prices to their customers such as the supermarkets. Similarly, niche manufacturers such as those in the premium car industry have been successful because of the size of the market that they have been able to target. This has allowed them to invest in both operations and human resources ensuring that they maintain high quality and have a USP that the rest of the world find attractive. Although branding and a skilled workforce have been crucial in developing markets such as China it is the large scale of production that is most significant. This has only been made feasible because of the global market. If JLR or Bentley were restricted to the UK or EU markets it is unlikely that they would maintain competitiveness. Indeed, it is probable that they would be fighting to survive. However, without technology these industries would not have been able to meet the increase in demand created by globalisation. Although low cost, the mass manufacturing food industry has also had to maintain quality standards to meet expectations of their customers in the supply chain, most notably the supermarkets. Without the automation required to produce both en masse and to quality assure their products then businesses in the food industry would not be able to develop global markets. This can also be seen within niche manufacturing where businesses within the car and fashion industry have used technology to create highly differentiated products but at high output levels. Thus, although globalisation is the most significant factor in maintaining competitiveness it is not the only important factor. The technology has allowed for the scale of production that is essential if UK manufacturing can attain technical and purchasing economies of scale that will lead to the competitiveness that is the main benefit of globalisation.

E3. This is a strong evaluative paragraph, based on prior analysis. It is focused on answering the question and concludes that globalisation is the most important factor in the competitiveness of UK manufacturing due to the size of target market that it creates. This is based on the analysis that comes from the first two analytical paragraphs. Information from both of these paragraphs is prioritised and used to support the argument.  The candidate then uses the contrasting paragraph i.e. technology to temper this argument and suggest that there are other factors that are important. Finally, we see the two arguments linked where globalisation only makes UK manufacturing competitive if technology is used in an appropriate manner.

GAP GAN L5 E3
 
[bookmark: _GoBack]With a difficult question title such as this one it is imperative that candidates fully focus on answering the question. This requires them to consistently refer back to the main points within the question – globalisation, competitiveness and UK manufacturing. Incorporating these terms within each paragraph creates a greater likelihood that they will answer the question. NAQ is common in BUSS4 as many candidates enter the exam with pre-rehearsed answers that do not fit the question. A good response will look at how significant the points made are in answering the question. This will occur within paragraphs and in the final evaluative paragraph.
